1&£ B 8840 CASB-MT-D3-R7
=

1T% 58071781

| ('ﬁ']

HER

FESTO

45 &

Gz AL ZERMERTILAR. EEERERN THEEERIEEERT
LT,

2 W Th &g £ Ri@EE LED

REMNE %

RARERF 2

Lo b B TTLES : ®K 7200 Hz
HTLfES : K 450 Hz

THEBEEE DC 20.4V..30V

BEEsR 100%

BAHRINFE 6W

PR TAESE DC 24V

S0 5%

Z2 25 A HH A A BB SRR 50 mA

NG HEUE B 50 mA

TAIE RCM 4R

KC #rid KC-EMV

CENIE (REHEH )

BERBRURAEED
HARREBE RoHS IEF

CEFRIC (MEHFEH )

FEEEEMCED
FEHEE ROHS IS

FiRiE EMMANR , PEESER 2, BA FN 942017-4H EN 60068-2-6
[npaaktca AEWE , EEER 2, BFE FN 942017-5 1 EN 60068-2-27
B E%R CrRC 1 - R R &g
SHESTERBYIR (PWIS ) BFEMH VDMA24364-B2-L
B F R AL Y AR 47 PELV
iEake ) IP65
B &R TEARFRET
WERE -5°C...50 °C
FREE 350¢g
EHH A HTLES & &E 18V, B: &&2v
TLES & &P 24V, K :&Ko4av
BAEOME , e TTL
BREONEY , EERE &k

2024%F 2858 - EFSHERBL B ITEA - Festo SE & Co. KG



S =1

BREOML , BERE M12x1 , A4S , BF4& EN 61076-2-101 b
BREOEL , BEO/&BH 8

W2 MEBSED , Thi HTL

B2 MESED, EOXR Ak

W MBESED, EEEA

M12x1 , A4RHEE , 4 EN 61076-2-101 R/

BREOML 2, H/4%

5

R BESED , EOXE

ik

R BESED , EEEA

M12x1 , A4RHE , 4 EN 61076-2-101 FR/fE

R BESED , HBSH

8

RN BESED , FOXR

2xTE

RRIRNBESER , EERAR

M12x1 , A4RHE , B4 EN 61076-2-101 #R/fE

RRSBNBESED , HBEH

8

REAR BEAT M4 RTHBEA
MR ER RoHS &#
EE 4R FPM
NBR
A= R FERELIEHEE S

2024%F 2858 - EFSHERBL B ITEA - Festo SE & Co. KG




